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1. The most common fastener used to attach a motor to a
bedplate is a hex head bolt with __________.
A. A lock washer and a nut
B. A flat washer, a lock washer, and a nut
C. Two flat washers, a lock washer, and a nut
D. Two flat washers, two lock washers, and a nut

2. Which type of machine operates by pushing or pulling a
toothed tool through a workpiece?
A. Stamping machine
B. Forging machine
C. Broaching machine
D. Workholding station

3. Which machine is used to cut metal alloy sheets using
highly accurate dies and punches?
A. Forging machine
B. Broaching machine
C. Workholding station
D. Metal stamping machine

4. What should not be done after using an angle grinder?
A. Set the grinder down while the disc or brush is still moving
B. Unplug the grinder
C. Wear eye protection
D. Change abrasives

5. When measuring chain sag, which side needs to be taut?
A. Motor side
B. Vertical side
C. Taut side
D. Driver sprocket
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6. Which is not an application of Ohm's Law?
A. Troubleshooting circuits
B. Sizing components
C. Creating multiple voltage levels
D. None of the above

7. Which method provides the ability to connect and
disconnect while a shaft is running?
A. Universal joints
B. Couplings
C. Clutches
D. Coaxial connectors

8. What pneumatic component provides straight line motion?
A. Motor
B. DCV
C. Cylinder
D. Muffler

9. Which is the most basic type of limit switch?
A. Single pole single throw
B. Single pole double throw
C. Single pole triple throw
D. Single throw double pole

10. Which of the following best describes a parallel circuit?
A. Current has multiple paths to follow
B. Voltage is constant across all components
C. It has a single pathway for current
D. It is always a closed circuit
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1. C
2. C
3. D
4. A
5. C
6. D
7. C
8. C
9. A
10. A

6Sample study guide. Visit https://maintenanceawareness.examzify.com for the full version

SA
M

PLE



Explanations
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1. The most common fastener used to attach a motor to a
bedplate is a hex head bolt with __________.
A. A lock washer and a nut
B. A flat washer, a lock washer, and a nut
C. Two flat washers, a lock washer, and a nut
D. Two flat washers, two lock washers, and a nut

The most common fastener used to attach a motor to a bedplate is a hex head bolt with
two flat washers, a lock washer, and a nut. This configuration is effective for several
reasons.   Using two flat washers helps to distribute the load of the bolt over a larger
surface area, reducing the risk of damage to both the motor and the bedplate. The flat
washers also help to create a more stable and secure connection, particularly in
applications where vibration might loosen a bolt over time.   The inclusion of the lock
washer is crucial because it provides added resistance against loosening, ensuring that
the joint remains secure during operation. Lock washers are designed to grip the bolt
and the surface they are attached to, preventing them from turning, which is especially
important in motor applications where vibrations can be significant.  The combination of
these components—two flat washers, a lock washer, and a nut—creates a reliable
fastening solution that meets the demands of securing a motor to a bedplate safely and
effectively.

2. Which type of machine operates by pushing or pulling a
toothed tool through a workpiece?
A. Stamping machine
B. Forging machine
C. Broaching machine
D. Workholding station

The correct answer is a broaching machine. This type of machine operates by using a
toothed tool, known as a broach, which is pushed or pulled through a workpiece to
remove material and create a desired shape or finish. The teeth on the broach
progressively cut into the material as it moves, allowing for precise machining of complex
profiles, holes, and surfaces.  Broaching is particularly effective for producing features
such as keyways, splines, or gear teeth, where accuracy and surface finish are crucial.
The capability to machine in one stroke, as opposed to multiple passes, makes broaching
an efficient method for mass production of parts.  Other options like stamping machines
and forging machines operate on different principles—stamping involves shaping
materials through compressive forces, while forging uses localized compressive forces to
deform metal. Workholding stations are not machines that process materials but rather
setups to hold workpieces securely during machining operations.
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3. Which machine is used to cut metal alloy sheets using
highly accurate dies and punches?
A. Forging machine
B. Broaching machine
C. Workholding station
D. Metal stamping machine

The metal stamping machine is specifically designed for cutting metal alloy sheets with
precision through the use of highly accurate dies and punches. This process typically
involves placing a metal sheet between the die and punch, where the punch is
mechanically pushed down with significant force to shear off the material in the desired
shape.   This equipment is widely used in the manufacturing of components that require
exact dimensions and repeatable precision, making it highly effective for mass
production. The utilization of dies allows for intricate designs and complex shapes to be
formed efficiently, which is essential in various industries, including automotive and
aerospace, where high standards of accuracy are crucial.   Other machines listed, such as
forging machines and broaching machines, serve different primary functions. Forging
machines are typically used to shape heated metal through compressive forces rather
than cutting, while broaching machines remove material through a series of
machine-controlled cuts, which is fundamentally different from the stamping process. A
workholding station, on the other hand, is used to secure parts during machining but is
not specifically a cutting machine.

4. What should not be done after using an angle grinder?
A. Set the grinder down while the disc or brush is still moving
B. Unplug the grinder
C. Wear eye protection
D. Change abrasives

Setting the grinder down while the disc or brush is still moving is unsafe practice and
should not be done. When the tool is still in motion, there's a significant risk of injury or
damage. The spinning disc can create a hazardous situation where it could come into
contact with surfaces or personnel, potentially causing cuts, burns, or unintended
property damage. This practice goes against safety protocols designed to protect users
and the surrounding environment.  In contrast, unplugging the grinder is an essential
step that should be taken to ensure that the equipment doesn't accidentally turn on while
you're changing discs or performing maintenance. Wearing eye protection is a critical
safety measure to prevent injuries from flying debris. Changing abrasives is a regular
maintenance task that ensures the grinder operates effectively, but should only be done
once the tool has completely stopped.
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5. When measuring chain sag, which side needs to be taut?
A. Motor side
B. Vertical side
C. Taut side
D. Driver sprocket

In the process of measuring chain sag, it is essential for one side of the chain to be taut
to obtain an accurate measurement. The taut side is crucial because it ensures that the
measurement reflects the actual working condition of the chain under load. A slack chain
can cause misleading results, as any play or looseness will distort the sag measurement.
By focusing on the taut side, you can accurately assess the amount of sag, which is
important for the proper functioning and longevity of the chain and the equipment it
supports.   This method emphasizes the need for a consistent and controlled environment
when measuring chain parameters, as variations in tension can lead to premature wear
or failure. Proper chain tension is vital for efficient operation; therefore, understanding
how to measure it correctly contributes to maintenance practices that enhance
equipment performance.

6. Which is not an application of Ohm's Law?
A. Troubleshooting circuits
B. Sizing components
C. Creating multiple voltage levels
D. None of the above

Ohm's Law forms the foundation for understanding the relationship between voltage (V),
current (I), and resistance (R) in electrical circuits, expressed by the formula V = I × R.
When considering the applications of Ohm's Law, troubleshooting circuits is a common
practice where understanding these relationships helps identify problems in electrical
systems. Sizing components, such as selecting appropriate resistors or circuit breakers,
relies on calculations derived from Ohm's Law to ensure that components can handle the
expected current without overheating or failing.  Creating multiple voltage levels,
however, typically involves devices and techniques such as transformers or voltage
regulators, which may not strictly adhere to the principles defined by Ohm's Law.
Instead, these processes integrate other concepts in electrical engineering, such as
power distribution and magnetic induction.  Given that all the listed applications, except
for the creation of multiple voltage levels, directly relate to interpreting and applying
Ohm's Law, selecting "None of the above" indicates an understanding that the first two
applications are indeed applicable under Ohm's Law principles while recognizing that the
third does not fit neatly within this framework.
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7. Which method provides the ability to connect and
disconnect while a shaft is running?
A. Universal joints
B. Couplings
C. Clutches
D. Coaxial connectors

The method that provides the ability to connect and disconnect while a shaft is running is
the clutch. A clutch is specifically designed to engage and disengage power transmission
between the driving and driven shafts, allowing for control over the operation of
machinery without needing to stop the system. This ability is crucial in applications
where starting and stopping motion while the system is in operation is necessary, such as
in vehicles or various industrial machinery.  When a clutch is engaged, it allows the drive
shaft to transmit torque to the driven shaft, and when disengaged, it disconnects this
transmission, permitting the driven component to come to a stop or operate
independently from the power source. This function is essential in many mechanical
systems that require the ability to start and stop torque flow while minimizing the
disruption to the overall operation.   In contrast, universal joints and couplings serve
different purposes—they provide flexibility and connection between shafts but do not
offer the ability to disconnect while in motion. Coaxial connectors are used primarily for
electrical signals and do not pertain to mechanical shaft connections in the same
manner.

8. What pneumatic component provides straight line motion?
A. Motor
B. DCV
C. Cylinder
D. Muffler

The component that provides straight line motion in pneumatic systems is the cylinder.
Pneumatic cylinders, also known as actuators, are devices that convert compressed air
energy into linear mechanical motion. They consist of a hollow cylinder with a piston that
moves back and forth within it when air is applied to one side of the piston. This action
results in a straight line motion that can be utilized for various applications such as
moving machinery parts, pushing or pulling loads, and operating automated processes. 
Other components mentioned, like motors, direction control valves (DCV), and mufflers,
serve different purposes. Motors typically provide rotational motion rather than linear
motion. Direction control valves manage the flow of air to the cylinders but do not
themselves produce motion. Mufflers are used to reduce noise from the exhaust of air but
do not contribute to motion in any form. Thus, the cylinder stands out as the correct
answer, as it directly creates the linear movement essential for various tasks in
pneumatic systems.
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9. Which is the most basic type of limit switch?
A. Single pole single throw
B. Single pole double throw
C. Single pole triple throw
D. Single throw double pole

The most basic type of limit switch is the single pole single throw. This configuration
consists of a single device that controls a single circuit. It has one input terminal and one
output terminal, providing a simple on/off functionality.   In applications, this type of
limit switch is commonly used to detect the position of machinery or mechanical parts
and operates through a basic actuation mechanism. When the switch is triggered, it
either opens or closes the circuit, allowing or stopping the flow of electricity to a
connected component.   For example, in an automated system, a single pole single throw
limit switch could serve to stop a motor if a mechanism has reached its desired position,
thereby preventing any potential damage.   This straightforward design is essential for
basic operations, making it suitable for various applications in industrial maintenance
and control systems. The simplicity and reliability of a single pole single throw setup are
why it is regarded as the most fundamental type of limit switch.

10. Which of the following best describes a parallel circuit?
A. Current has multiple paths to follow
B. Voltage is constant across all components
C. It has a single pathway for current
D. It is always a closed circuit

A parallel circuit is characterized by having multiple paths for current to flow. This
means that if one path is interrupted or fails, the current can still travel through the
other available paths. As a result, devices connected in parallel operate independently of
one another. This configuration allows for consistent voltage across all components,
which is a defining feature of parallel circuits, but the essence of a parallel circuit lies in
the fact that it provides multiple routes for the electric current to take.  While it is true
that voltage remains constant across all components in a parallel circuit, the key
distinguishing factor that defines it as a parallel arrangement is the presence of multiple
paths. A single pathway for current would describe a series circuit, and while a closed
circuit is necessary for current flow, it is not exclusive to parallel circuits, as both series
and parallel can be closed. Therefore, the description that highlights the existence of
multiple paths best captures the nature of parallel circuits.
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